
Publications No.

Issue Date
INSTALLATION
INSTRUCTIONS

Accessory Application

© 2009 American Honda Motor Co., Inc. – All Rights Reserved. AII 42388 (0908) 1 of 508P47-SWA-1A00-91

AII 42388HOOD AIR DEFLECTOR 
P/N 08P47-SWA-100A

2010 CR-V

AUG 2009

PARTS LIST

Hood air deflector

2 Brackets A

2 Brackets B

Left bracket C (marked “C-L”)

Right bracket C (marked “C-R”)

4 Clips

2 Screws, 6 x 11 mm

4 Truss screws, 5 x 9 mm

4 Grommet nuts

2 Collars

3 Alcohol swabs

4 Protection tapes

Template

Hood label

TOOLS AND SUPPLIES REQUIRED
Phillips screwdriver
Shop towel
Felt-tip pen
Scale
Masking tape
Isopropyl alcohol
Hair dryer

Illustration of the Hood Air Deflector Installed on the 
Vehicle

INSTALLATION 

NOTE:
• Do not damage the body paint finish when installing the 

hood air deflector.
• This kit should be installed only if the ambient air 

temperature is above 15°C (60°F) or above.
• To allow the adhesive to cure, do not wash the vehicle 

for 24 hours. Please advise the customer.

Customer Information: The information in this 
installation instruction is intended for use only by skilled 
technicians who have the proper tools, equipment, and 
training to correctly and safety add equipment to your 
vehicle. These procedures should not be attempted by 
“do-it-yourselfers.”

932701AY 

HOOD AIR 
DEFLECTOR

Put this instruction in the glove box with the vehicle owner's manual.



2 of 5 AII 42388 (0908) © 2009 American Honda Motor Co., Inc. – All Rights Reserved.

1. Open the hood. Fold back the seal on the hood and 
locate 4 square holes in the hood. Install a grommet 
nut into each of the four square holes.

2. Align two brackets A and two brackets B to the holes 
on the four grommet nuts.

941610BB 

HOOD

4 SQUARE 
HOLES

4 GROMMET 
NUTS

HOODSEAL
Fold back

932702DY

BRACKET A
BRACKET B

4 GROMMET 
NUTS

HOOD

BRACKET B

3. Close the hood. Attach pieces of masking tape to the 
hood under two brackets A and two brackets B as 
shown.

4. Use a felt-tip pen to mark the center of two brackets 
A and two brackets B on the masking tape.

5. Open the hood. Remove two brackets A and two 
brackets B.

932703CY 

2 BRACKETS A 2 BRACKETS B

HOOD

FELT-TIP 
PENMARK

MASKING 
TAPE

Align.

20 mm



© 2009 American Honda Motor Co., Inc. – All Rights Reserved. AII 42388 (0908) 3 of 5

6. Using one alcohol swab, clean the areas where the 
protection tapes will attach.

7. Fold back the hood seal. Align the centers of the four 
protection tapes to the marks made in step 4, and 
attach them to the hood as shown.

8. Remove the masking tape.

932704CY 

HOOD

MARK MASKING 
TAPE

4 PROTECTION 
TAPES

CENTER Align.

PROTECTION 
TAPEHOOD

SEAL
Fold back.

9. Install two brackets A and two brackets B to the four 
grommet nuts with four 5 x 9 mm truss screws. Push 
each bracket against the hood while installing the 
screw.

932705DY 

2 BRACKETS B

4 GROMMET 
NUTS

4 TRUSS 
SCREWS, 
5 x 9 mm

HOOD
Push.

BRACKET

HOOD

SEAL
Fold back. SEAL

2 BRACKETS A

PROTECTION
FILM



4 of 5 AII 42388 (0908) © 2009 American Honda Motor Co., Inc. – All Rights Reserved.

10. Using one alcohol swab, clean the area where the 
left bracket C will attach.

11. Align the template on the hood in the area shown, 
and tape it in place with masking tape.

12. Using a felt-tip pen, mark along the template as 
shown. Remove the template.

932709DY 

FELT-TIP 
PEN

MARK HOODTEMPLATE

MASKING 
TAPE

HOOD

TEMPLATE

Clean with an 
alcohol swab.

Align.

13. Remove the adhesive backing from the left bracket 
C. Align and attach the left bracket C to the mark 
made on the hood in step 12.

14. Erase the marks made on the hood.
15. Flip the template over and repeat steps 10 through 

14 on the right side of the vehicle.

932710CY 

MARK

LEFT BRACKET C

HOOD LEFT HEADLIGHT

ADHESIVE 
BACKING
Remove.



© 2009 American Honda Motor Co., Inc. – All Rights Reserved. AII 42388 (0908) 5 of 5

16. Install the hood air deflector to two brackets A, two 
brackets B, left bracket C and right bracket C with 
two 6 x 11 mm truss screws, two collars and four 
clips.

17. Using the large end of a template, insert it between 
the hood and hood air deflector to unfold the molding 
as shown.

932711CY 

2 BRACKETS A
2 BRACKETS B

2 TRUSS SCREWS, 
6 x 11 mm

4 CLIPS2 COLLARS
HOOD AIR 
DEFLECTOR

LEFT 
BRACKET C

RIGHT 
BRACKET C

HOOD

CROSS SECTION
TEMPLATETEMPLATE

Insert.

MOLDING
Unfold.

MOLDING

18. Open the hood. Using isopropyl alcohol on a shop 
towel, thoroughly clean the area where the advice 
label will attach.

19. Remove the adhesive backing from the advice label 
and attach it to the hood as shown.

951301AY 

HOOD

ADVICE 
LABEL

ADHESIVE 
BACKING


